EARAROBEEIERT — 2 N— IBISH —F

201458718H (B) 12@EE&HE1H

KW +>C12% C12 ¥5%—#% ‘ (%E] W ‘ [ERmE]  — | 4 (&) 0800N &
[AE£] 1% :135,000” ~ 2#&:25000M”  33#%&:10,000 M  4%&:6,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
P c SR s 4 | BEAR 0:51.1 1-1 7.1 — 1 449 | FREHPR (BEHE)
115|581 77F =5 F 52.0 . o | (@ 9PN
L:a-I>J)> B:E147I7L-X biExse]
. M o4 | SHEKX 0:51.6 32 37.3| — 6 503 | ABET (BHE)
2|8|g|*T¥avkxd 6.0 (2 1/2) Go) | ) 7r-ZRETas
L:7HA4FALANN BRI TIIRR g =
“ 7 B4 | DIERFUAE 0:52.5 8-5 37.8| — 3 405 |REEC (BEE)
3|7 7| ¥V IEN-b 4.0 @ 1) | B) R—x57
LT RIAYAT—> BiuAF— AN FMEZ %Y K
3 B4 | LB 0:52.6 5-4 8.2 — 5 404 | HD=— (BHE)
411 |AITIXXF L (1/2) +6) B 77— RETa
R:GFRTLE— BIAS FRYES EESAN ¢
B4 | RIDAER 0:52.6 2-3 38.4| — 2 486 E5L— (BHE)
1A% —7 5.0 (7€) 3 | B K=257
LY IITLIF b By F—Fh—7 RIS
43 i 4 | HBAEZ 0:53.2 6-7 38.4| — 8 468 | FEBS (BHE)
- 4.0 @) wg) | ) A-257
X+ TTLRT 14— B:XTITUHE— A XE)T7—L4L
BRR— : - — FEBS (BEHE)
LAv= k 411 BB (275?:)2 4-6 38.6 7 :?12) fEmS
RHIRE— BENTYINL 9n wm
= o 4 _E ALt : = — #Wah— (BHE)
LT Z2—4Z K it 4 G 0.(513).4 7-8 38.5 4 (4_426) L (BRE
R:T7RY4YT1E82 B 44a5-Y3 B ED
@ 1—F—@&BIEf
13—7—
23— —
30—7+— 5,2,8,6,1,4,3,7
41 —F— 5,8,2,1,7,6,4,3
[ RN
B OB 5 200/ 714K 5-8 240M B E 5-8 890M &R 5-7-8 2,320
8 B 5 120/ 5-7 390M B H 5-8 1,100 JEH 5-8-7 5,130
8 240H 7-8 640
7 350M

ABICOVWTRDTEEERROODE. TR LIV,




